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: . = BT e i / SCIENCE AND MATH
ferem] = 6 T & 3 s

: AT = smarg
ik e

(1) IR T8 T w2

(2) Wﬁﬁm";mm&qﬂmmmg
(3) I = T Togy ey

(4) ?ﬁ%mﬁaﬂﬁmmjwqmt
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(2) T =S

() FA=IH

4) FTEE =
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2y § Flerd

(3) g,

(1) =R

f5Fm Zzn A 7rga =1 AT T, EeE a7
(1) amrfa==

(2} 3=

(3) FITeEE

(4) wuTFg
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(1) s

(2) TrE=TEE

(3) wEEAEE

(4) AT

Gy v 2 S Faga Sl e AT
(1) BF,
(2) NF,
(3) o,
(4 10
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53.

54.

Which property af the virus suggest that it is

ahiatie 7

(1) Because it can reproduce

(2) Because crystalization of virus is
possihle

{3) DBecause it can cause disease

{(4) Becuuse it has penetic material

Naostoe presence in farm land can contribute in
(1) Carhondioxide cycle

{2) Nitrogen cycle

(3) Walercycle

(4} Phosphorus cycle

Which one of the following is neither a
Prokaryote nor an Eukoryole 7

(1) Seccharomyees

(2] E. Cofi

(3) T.AMLV.

(4) Nostoo

Inwhich condition both the arms of chromosonie
are same 7

{1} Acrocentric
{2} Telocentric
(3} Submetaceniric
{4} Metacentric

Which is Svicide Bog 7
(1) Mesosome

(2) Ribosome

(3) Lysosome

(4) Centrosome

Amongst the following compounds, the

compound having zern dipole moment js
(1) BE, '

(2) NI,
(3} CI0,
(4) HO

| PT.0,
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57. mmmmﬁmﬁfﬁﬁiﬁmﬁ

T T 3 A1 3 AEd i S T A
Fm

i1y No<Mpg<Be<Si<P

(2) No<SicBe<MgelD

(3) P<Si<Be<Mg<Na

(4] Si<De<Me<P<Na

TR T g Fag4 R
(1) PAN (2) (1) 3 (4) 36

(3) FEAFTEAA  (4) NOMm

89, R s I R s e 2 7
(1) 3 & d Arseges = welaE T A
(2) o el | i (CH, ) i sreafiaes w8
(1) I ¥ 7H 8 wivEsE 5 SEaEm EE
(4) 114 % e | g ) s e |
60. T u A fFm swhiFEn 1 7= s a2 $i
aTaEal il ¢
i1y Ca*—Co* + le
2y K=K+ le
i3y C* ="+ le
(4] Na—Na* +le
61, wm = = d o fes 1o e =l T
=M™, A1 f9g T W0
(1) TZATE
(2) AT
(3) wEE =E E, TR T R
(4) TETE
62, T AEHEmIEER
(1) 10° % (2) 107 fif
(3) o7 (d) L
o3, i F S E e i v
sl B T _
(1) ArEEH (2) dredie
() ST (4) FrEgnita
paper — 1/D
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5.

60,

nl.

0.

Cansidering their atomic numbers and their
position in the periodic table, the correct order
of increasing metallic character is

(1) NasMg<Be<Si<l

(2) No<Si<Be<Mg<l

(3) P<Si<Be<Mg<Na

(4) Si<Be<Mp<|"<Na

The chief constituent of photochemical smog is
(1} PAN {21 Both (1) and (4)
{3} None of these (4) NO,pus

Melhaemoglobinaemia disease is caused by
(1) High concentration of nitrites in drinking
water

High concentration of CH, (methane) in
drinking water

High concentration of Nuorides indrinking
witer

High concentration of nitrates in drinking
waler

(2)

(3)

Which of the following reactions will need
maximum amount of energy ?

(1) Ca*—Ca' + le

(2) K= K"+ le

(3) C*=>C"+ e

(4) Na—Na*+le

There is a hole in a copper disc, if the disc is
heated. the size of the hole

(1] Decreases

(2} Remains the same

(3) Firstincreases. then decreases
(4} lncreoses

One nonometre is equivalent 1o
(1" 10"em (2)
(3) 107 cm (4)

17 mm
1O im

Which device converts thermal energy inta
electrical energy 7
(1) Thermocouple
(3) Photocell

(2) Voltmeter
4) Hydrometer
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h5.

rrﬁ L]

6.

Y.

i,

T,

71,

Which of the following is non-conservative
force 7

(1) Ciravitational force

i2)
(4
4y

Viscows force
Inter-atommic force
Elecirostitic force

Roaring of lion has

(1) high intensity and low pitch

(2) hath high intensity and high pitch
(3} buth low intensity and low pitch
(4) low intensity and high pitch

According to animal classification, which of the
following group of amimals is correct ?

(1) Euplectella, Spangilla. Sycon

(2) Octopus, Srarfish, Jellyfish

(31 Hirudimana, Umo, Antedon

(4) Nereis, Eanhworm, Starfish

Amoebi 15 &
(1} unicellular plamt (2} umcellular protist
{30 bacterium (4) umcellular animal
Presence of "Canul System” i the
charactenistic feature oof phylum

(R {2)
i1} Echinodermata (4)

Matehelminthes
Pornfera

(Coclenterata

Long banes with air cavities and lungs with air
sacs are the features of clas

(h Reptilia (2) Aves

(3) Mammalia (4)  Amphibia
Benehicial imsect 13
L1y Aphid

(3} Culex

(2) Apis

(4) Gandhi bug

A var covers the hirst half of a certain distance
“l.”i | 'ri'll"'l.'q.i ¥ .,I]ul 1_r||: """L“I'I{I h..]!l with 4 ‘T‘-"‘d
v Ihe averape speed (v of v, and v, Junng
the while Jimattiey will be

1 Halt of harmong mean

()
i
fed)

Uiconmet. mean
Harm e mean
Avithmetic mean
AL
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7.

74.

75.

76,

77.

78.

7.

v #Ar—wm & P w wFm o weed
e eE s ke ol i
(1) 40°
(3) 100

2y =ar
4y o

Faferfiaa @ @t faer wam wfte A s 2 7
(1) #hi[

(2) Hrsfa

(3) HIEET

(4) TR ZRHILE

vfear - e R

(1) ofF=

(2) FTmamAnfm=
(1) =A==

(4) FEAwm W

T T2 v ST =T T I AR A
(wel E v B wwm: faem i o g am
s A §)

(1) 9@ B (2y Eamn B EE

(3) AMEMIAR (1) F@E

TrEsNET (ELISA) T =@ fagrma @
(1) faramm fFm

(2) wnis

(3) TR - g fEm
(4) w=m fFEn

#fiFf TR AR e

(1) lac (2) up
(3) alu (4) ery

o A A FR e S siefe i s e
(1) Tﬂ'ﬂm“ﬁ. )

(2) were aftEed A H

(3) ECibcch

(4) T wve |

o A Teevh W g 1
(1) uyfm.——'l" ;ﬂ (2) ‘ﬂﬁﬂﬁm
(3) werTEiTm (1) TTENA

Paper - 1/D
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73

74.

75.

76.

7.

T8,

7.

At which temperature Celsius and Fahrenheit
measurement is equal ?

(1) 400 (2) -4F

(3) e 4y o

Which of the following is used in nefrigeration 7
(1) Chlorine

(2} [reon

(3) Phosphine

{4) Sulfur dioxide

Ampere-hour is on unit of

(1) Power

(2) Swrength of electric current
(3) Energy

(1) Quantity of electricity

The field around direct current carrying
conductar is/are (where Eand B are respectively
represent electric field and magnetic ficld)

{l) OnlyB {2) BothEuwnd B4

(3} NeitherEnor3 (4) Only E

Working principle of ELISA is
(n
(2]
(3)
()

Amplilicanion process
Magnification process
Antigen-antibody interaction
Phapocylic process

Code of Bt toxin gene is
(1) lac (2) 1mp
(3) alu (4) cry

In which of the following process oxygen is not
required ?

{1) CGlycolysis

(2)
(3) Aerohic respiration
(4) Photosynihesis

Electron transpart system

Myeorrhiza s esample of
(1) (21 Antibiosis
(3 Mutualism (4} PFungistasis

Amensahism
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S0

B4,

RS,

8.

§7.

Hi.

K.

g‘]l

1KRB (Kilobyte) is equal to
(1} 10060 bytes
(2) 1020 bytes
(3] 1010 bytes
(4) 1024 bytes

Which of the following has the highest
frequency 7

(1) Ultra-violet light

(2) X-rays

(1) Infra-red rays

(4) Visible light

"Pelludona” medicine is obtained from which
part of Arropa Beltadona ?

{1y from rool

(2} Trom leaves and root

(33 from all the parts of plants

{4) from stem

Jute is obtained by

(1) Pinus

(2) Dainre

() Carchorus Capsularis
{4y Sofanum

Cotton is obtained from
(1) Hauwolfia

(2) Glycine max

(3) Orvzn sativa

(1) Gossypium

In compositae family the flower is
(1) Epigynous

(2) Terigynous

(3) Mone of these

(4) Hypogynous

Cocaine is oblained from
(1)
(2)
(3
(4)

Atrapa plant
Ervihroxvlim plant
Pappy plant
Cannabis plant
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96, ﬁtlﬁﬁa@m—ﬁél%(anﬂﬂ)‘ﬂmmrﬂ?ﬁ??
(1) wmEmE (2)
(3) wreemse (4)
9. ﬂnﬁﬁsﬂﬁmaﬂﬁﬂw-mﬂ‘ﬁﬂﬂﬁ*
sermA g e |
o Himmﬁz:ﬁ
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921.

92,

93.

94.

95.

96,

97.

Four chambered heart is found in
(1) Reptile and bird

(2) Amphibian and reptile

(3) Mammal from fishes

(4) Bird and mammal

Which of the following order of the class
mammalia is completely aquatic ?

(1) Cetoces
(2) Rodentia
(3) Ungulata
(4) Carnivora

Nalls, claws, hoofs and horns are developed
from

(1) Dermis
(3) Cartiloge

(2) Boene
(4) Epidermis

Which of the following Vitamins is mainly
responsible for blood coagulation in human
being ? I

(1) Vilamin K

(2) VitaminC

(3} Vitamin A

(4) Vitamin E

The animals with digging or burrowing habits
shows the following type of adaptations

(1) Cursorial adaptation

(2) Fossorial adaptation

(3} Volant adaptation

(4) Scansorial adaptation

Which of the following is nor the ore of Iron ?
(1) limonite (2) hematite
(3) petalite (4) magnetite

Which one of the following alloy is not properly

matched with regard to its composition ?
Alloy Composlition

(1) Gun metal - Copper. Tin and Zinc

(2) Nichrome Nickel, Iron and Chromium

I

(3) Solder - Lead and Zinc
(4) Brass - Copper and Zinc
[P.T.0.
' _‘
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100.

101.

102,

Prcr 1t - v Fratefron it
il Fard T T () 2 7

cl,
(1) CH,-C-ON
|
CH,

(2) CHCH,CH,CHOH

(3) CH,-CH-CH,-Cl,
|
OH

&) CH,- CH - CH,0H
CH,

T A T - v g a7
(1) w=fmsmm () i s
(3) wHifr= ama (4) Tafis wmm

e demeEm £ S 2 s % B B d 4
sfufaramsiem 1 wé 33 8m
(1) RF>RBr>RCI >Rl
(23 RCI>RNr > RFE>RI
(3) Rl>RBr>»RCI>RE
(4) RF>RCl>RBr>RI

N, O, P § 5 Frmgn-somessan & um fes o
i g
(1Y S<Pe<N<D

(2) P2S=N<O
(3) P<NecDes

1) N<OD<Pc§

AT F4A 1ima fifsm

(1) ATGRV=S 1 i st v vl
- .‘h“ﬂﬁﬂ?mﬁrmm:ﬁgl

(2) FrZAmE F s im Y
1 _

(3) el 6 SR T 1L e e A
HF |
NOLR

1 W IR

T

XeF, 8, Xe %1 5m §
(h spd
(3) sp'd’

(2) sp’
(4) dsp’

Paper - 1/D
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8.

99,

104D,

101.

102,

103,

Y

Which of the following compound piy,
most stable carbonium ion during dehyy
reaction !

5 thy
ril]tl!ln

CH,
|

(1 CH, - {f'DH
CH,

(2) CH,CH,CH,CHOH

(3) CH,-CH-CH,-CH,
1
OH

(4) CH, - t%H ~CH,0H
CH,

The acid found in tamarind is
(1) Ascorbic Acid  (2) Tartaric Acid
{3) Acetic Acid (4) Cirie Acid

The order of reactivities of the following
alkylhulides for S_2 reaction is

(1) RF>RBr> RCl > RI

(2) RCI>RBr>RF>R]

(3) RI>RBr>RCl>RE

(4) RF>RCl>HBr> Rl

The elecironegativity of N, O, P and S increases
in the order

(1) S«P<N<D

(2) PcSe<N<O
() P<N<D<cs

(4) N<O<P<§

Point out the incorreet statement.

(1) Ozone layer in stmosphens protects us from
harmlul UV radiations.

(2) Theincessant use of insecticides has caused
sonl pollution,

(3) TetraBihyl Lead (TEL) is added to gasoline

so that the gases coming out of vehicls

May not cause air-pollution,

The gases responsible for peid rain 4%
mainly SO, and NO_

(4)

The hybridization of Xe in X

\eF, is
(1) sp'd D sp?
() sp'd! (4) dsp?
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Li. Mg. Be.C

(1) Mg<Be<LieC
(2) C<Mg<lLi<pe
13) E']E-ﬁil_i{h'[gqc
4) LicsMg<Be<

105, F= slEm b o 2
COOH
Br, x5
FeBr,
CH,
i
COOH C -Br
() (2)
Br
CH, CH,
COOH coon
B
(3) (4) T
CH.—Br CH,
106, I15TR 3 TS T IET v FEer @
(1) TFETFEdl (2) U
(3) FlETEC (4) wieFeat
107, i = TEEE e S @
(1) o & Afdem 8
(2) fEre ¥ At e
(3) "E=g
(4) s & egen A
~ = %
108, mﬂqwmﬁ?lﬁ ) 3
(1) FHE4H (2) ¥ 3
(3) gr=A (4) W
‘s IF
100, Frsfarfir & 2 7 T F A
Feerr & 7 _
(1) =i (2) AT
(3) T (4 =
Paper— 1/D
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104.

105.

106.

107.

108,

109.

What is the correct order of increasing
electronegativity for the following elements ?
Li, Mg, Be, C

(1) Mg<Be<Li<C

(2) C<Mg<Li<Be

(3) Be<Li<Mg<C

(4) Li«cMg<Be<C

The product ‘X" in the following reaction
COOH

_Bn L Xis
FeBr,
CH, 0
OOH C =Br
(1) 2) \zi]'j,l
Br
CH, CH,
COOH COOH
B
(3) (4) @’ r
CH-Br CH,

The rearing of silk worm is known as
(1) Aquaculture (2) Apiculture
(3) Senculture {4) Horticulture

Respiratory centre of the body is present in
the

(1) Cerebellum of the brain

(2) Cerebral hemisphere of the brain

(3) Spinal cord

(4) Medulla of the brain

Loop of Henle is concerned with
(1) Excretion (2) Respiration
(3) Digestion (4) Reproduction

Which of the following is called “Blood bank
of human body 7
(1Y Spleen
(}) Kidney

(2y Bone murrow

4y HMeart
() -

i i
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(1 624 (2) 430
(}) 576 (4) 864

ﬂinﬂﬁwﬁmmtmmw{uancu
Mmrrmt.n.-\nmnﬁmii:m!&m?

(1) 2AD+RC (2) AD+2BC
(3) AAD+BC) () AD+BC
114, 5ind - cos0 #1 33firwam nre §
(h 2 (2) 1
(3) _"ri_;_! 4 2
115, 20 woqe foehy dvame w6 25 il o arn w8 | o2
14 T she v Bad v, 1 A ol werd )
it o s e i
() 18f= (2) 15f*
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1o,

111,

114.

Polyp and Medusa are the alternative body
forms present in the animals of kingdom

(11 L‘u‘tlrntrm:

() Annelida

(3 .‘\ﬂhnﬁn‘da

*) Porifera
[I’E'n.‘l'-ﬁ".mmmctn!ueof~-—l-—1-=
Y vV oz
|
1 5 L
3 )3
) | 40

I product of two numbers be 32, If the average

of these numbers is 6, then sum of the cube of
these numbers w il he

(1) 624
(}y 576

(2) 430
(41 S6d
In the given figure a circle is circumscnbed in

quadrilateral ABCD, then AB - CD will be
equal o

(N
(3

JAD = BC
2(AD + BOY

() AD<2BC
4) AD=RC

The maximum value of sin® - cos8 is
(V2 1

—_
\fj-'i'l
-

(3 (4) 2

21 workers can construct any wall in 28 days
If 14 more workers are deploved, then in how
many days they will complets the whole work ?
(1) 18 days (2} 15 davs
(3 12 days (4) 21 davs
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( 1:2 (2) 4:1
(3) J3:1 (4) 2:1
120 L3245y ST 2
3'6"9'27 A
20 27
(n 3 (2) y
10 in L
(3) 37 (4) 57
121, uf o w12 — px + 54 = 0% TR
2. 3% s A A, Ap T AL
(1 -15 (2) -0
(3) -21 (4) 15
122 aﬁﬁ;ﬁﬂﬁmﬁaaﬁ:hmmmﬂ
Uit W TR A,
(1) a+b=yab (2) a+b=ab
(3) a=b (4) Ja+b=ab
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116.

117.

118.

119.

121,

122,

The sum of real roots of the equation
| x|=-6=01is

{2y -1

(4) 4

(1 0
(1) 5

Maximum value of the expression
2sinx + 4 cosx + 3 is

2) 2J5-3
@ 2J5
The chord of a circle is cqual to its radius. The

angle subtended by this chord at any paint of
the minor arc af the circle is

() 2J5+3
(3) J542

(2) 75°
(4) 60°

(1) 150°
(3) 1200
A cone and o hemisphere have equal bases and

equal valumes. The ratio of the height of cone
and radius of the sphere is

(ry 1:2 (2) 4:1
3 11 4) 2:1
LCM.of L 32 4 ¢
3'6'9'27

20 27
(nn = =5
) 3 (2) 7

10 |
3) == 1
5 @ %3

Il the negative roots of the quadritic equation
"J—P1+54=ﬂum'|nlhemtiuI:J,anﬂw value
of pis

(1 -15
(3) -21

(2) -6

(4) 15

IT the arithmetic mean and geometric mean of
any two numbers o and b are equal, then

() a+b=+vab  (2) a+b=ab

”'.l .;]'_-h. (4% -.":1-1"_'\»@
;F.T.D.
-
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g 0, \ oW w ¥ Bt a0, 0, 12N Ifthe coordinate of three points O, A and B are
i A, g OAR i i
(W - ! '

respectively (0, 0), (0, 3) and (5. 0), then the

W Py el '-;:":“mﬂtnlrc and radius of the triangle OAR !
Y £
(M (33~ (1) (53),¥4
a8 4
- .y M
o (). @ (35.003) 35
7%
|F1,_-
o (33 o (£2)43
S 2'2)'" 7
i ‘j] M i
[4'-: Py «) [%%]JH_J

)  fiewd o Tt I LR I s =
124, ?\1‘ ;ﬂ:‘ " WIER W wH ol eE R M 124, Ina simultancous throw of 1wo coins, the
) nira v probability of not getting a *head' is

| |
(h = (2) L l
(= 2 1
1
3y L 4 3
& 3 (4) : (3) l_' 4 3
- 4
1 = -1 7
125, ‘If*tumnim.rhﬁqﬁﬂﬂrh-mm?ﬂﬁ? 125, 0 <n <1, then which one of the following is
nof true !
1) W - _1| |
Vi REEa k2) T‘_|||':“|Lm (L nap™ (2) —E'E-:—tlm
n n
(3 n'™s 4y ne (3) n'™> 4 n'<
126, ww a3 St ek et I 126.  The ratio of arcas of the incircle and circumeirele
i of a square will be
(h 1:42 (2) 1.3 (1) 1:42 ) 1.3
(3 1:4 4y 1:2

(3) 1:4 (4) 1:2

ot

27, naferfom wreh m fism i 127. Consider the following table ;

ek | V00200 2130 3130 4|~5U15!'(1U Marks -1 11201 21-30) 31240 41-50] 51-60
b/l BT I P P B B | ECT Y P 3 3| o2
. l ] ‘ Students
10 % st w10 = a0 3w T A The percentage of students obtaining maore than
w1 ufrma B 1) andd less than or equal 1o 30 marks is
() 65 () 69 (1y 63 (2) 9
(3) 14 4) 15 (3) 74 (4) 15
Paper - 1/ 5t
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128.

129,

130,
13

132,

133,

P:L]jur

=13 -13 x o
sin” 53 +eos™ < PR ey ey v 7

_|§é

1
(1) T

CS
-1 63
16

(3)

()

st o atrEraFay B 2 7
(hy 4

(2) 5

(3) Fafeaa =

(4) 3

aEmsTt 0.9, 0.9, (0.9), (0.9) § 78 721
e B

(1 (09y (2) (0.9
(3) Jo9 (4) 0.9

o 5 R e B o R o2t 2 =1
FEAEE R ?
(ny 2

(3) ¥

a2 A i e ) Proanad 3 s 28 3

(2) 4
(4) 1

drafz0 8 2, @ad 3o A EE AT
(1y 7 (2) 3
(3) 4 (4) 6

o " oy x4y @ o A IS T
(1) nF=e faam il @ )
() e s e i
(3) 1 e AT T e O

(4) n=0,7F
-1/

57

128.

129.

130,

131.

132.

sin_li+:ns_' 3
13

= is equal to which of the

following ?

(1) cos™ ?%
{2 cot”! f—g-
(3) tan”' %
(4) sin”! 1%—

To construct a quadrilateral at least how many
independent informations are required ?

(1) 4

(2) 5

(3) notdefinite

(4) 3

The largest number amongst the numbers
J0.g, 0.9, (0.9), (0.9 is

(1) (0.9) (2) (0.9
(3) Joo (4) 09

For how many real values of n the equation

4l a

a~" "< =1 has a solution ?
(1 2 {2y 4
(3) =zero (4) 1

If the difference of radius of two ..-mc-.-mri_-:
circles is 2 and the distance between lhflr
centres when they touches each uﬂ".r_:r exiemally
is 8, then the radius of the bigger circle i3
LT (2) 5

(3) 4 (4) 6

If xln +}"1’n is divisible by » + 2 thed
(1
(2)
(3)
(4]

n is only odd integet
: oy inteReT
fi is only posiuve add inle |
3 cven inte e
n s only posibye gven

n = 0, integer
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Iiu!

135,

137.

Number of real solutions of the equatjgy

X = m 3 — i will be
x* -9

(n 1 (2) 2

(M 3 (4) 0

1My -y and y = 2x are two (actors of the
expression 8" = 3x'y + Axy? + uy?, then

(1) 1=-l4-'.u=%
@ A=Tp=-2
(3) 1:——[—:,;1——-?‘:‘-
(4) lz%.:ﬁ%

I in the adjucent figure PA, PB are tangents of
the circle and £APB = 30°, then the valuz of
ZAQB will be

(1 oo®

(2y 1507

(¥ 75°

(4) 30°

In u single throwing of a dice, the probability
of getting more than 4 is 1, then prohablity of
3

gewting 4 or less than 4 will be

(1 (2)

et | B

==

k)] (4)

= n
| —
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1M,

140,

141,

141

The area of largest triangle that can be inserihed
In a eemiocirele of radiuve Y em s

(n (2)
(N 4y

I em’ 1T em!

Vvem! W emt

If | « x < 2, then what is the value of
Jx b2dx =1+ \"1-21.‘#1 =i T
2Jx =1

(1)

@ 2+2Vx -1
() Jx-I

(4) 2

The number 23.33 in the form E (p.qare

imegers, q # 0) 18

2143
999
2320
99
2320
00
234)
100

(1

(2)

(3)

(4)

A person prints the price of his article to 3¥% more
than ity cost price and gives W% discount to I
panted pnice. His profitloss percentage 18

(1) Protit9%

2y Loas 995

(3) Noany profitoss

(41 Liowas 6%

The alpebraic expression

will BavE
in-ajin ~hiiv=cl (v =y)in=grat

the degree

ului.‘llnrd
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47, p TR g e

| i ::‘ Hﬂmm,ﬁp,‘;”:_h_m
(x = 1) 391 (x4 ]]ﬁwlﬁmﬁﬁfﬁ‘l??
(1) p=1l.q=2
[2]‘ |T=:‘l.q-—.4
(1) 1}=—1.||=|
4) p=2.gq=1

148, 7 w0 w000
LT HFH T R s ywm I 0 125
AT B G F70 2, 1 7w A e o
(E meila i
(1) G657
(2) 77:84
(3) 50:45
(4) 55:54

149, afzu+h):(b+c):fc+a)=6:7:83M
u+|1+::=14?:,ﬂﬁ:1:h:cﬁ'ﬂﬂﬁmiﬂ?
(1y 7:5:9
(2) 12:14:10
(3) 6:7:8
(4y 3:7:4

\s0. i fora 7 g 7 375 O A LAOB=60%
A ZAEB %1 HH
(1) 75°
(2y 150°
(3) 105.5°
(4) 105°

Paper — 1/D

147.

148.

149.

150.

What will be the values of p and g, when
pxi+x -2x—qis exactly divisible by
(x—and(x+1)?

(1) p=lag=2

(2) p=3.q=4

(3) p=-1.q=1

(4) p=2.g9=1

The employer decreases the number of his
employees in the ratio 10 : 9 and increases thair
wages in the ratio 11 ; 12, then what is the ratip
of his two expenditure ?

(1) 61:57

(2) 77:84

(3) 50:45

(4) 55:54

Tf{a+'|:|]:{h+{:}:(c+a}:ﬁ:?:5md
a+ b+ c= 14, then what will be the value of
a:b:c?

(1y 7:5:9

(2) 12:14:16

(3) 6:7:8

(4) 3:7:4

In the given figure O is the cenle af the &%=

J '.H.:' b
and £AOQB =607, then value of ZAEB
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